What is the
program
supposed to do?

What is
the problem?

What do |
need to change in
the code to fix it?

« when clicked (& redBubble

@ biueBubble = hide

Jy when clicked . pinkBubble

, greenBubble @ hide

« when clicked . greenBubble

¥ redBubble ‘S hide

« when clicked - blueBubble

@ rinkeubble @hide

Does it
work now?

W when clicked (% redBubble

% redBubble 7Y hide

,b when clicked . pinkBubble
. pinkBubble ::]hi(ﬂ'

@ when clicked @ greenBubble
@ oreenBubble 3 hide

W when clicked @ blueBubble

& blueBubble :I hide

If it doesn’t do what it is
supposed to do, what
have | done wrong and
how can | fix it?







